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3. (10%) Please answer the following questions:

a.
Ib. (5%) Explain the “paradox of thrift” with the Keynesian Cross diagram.

4. (20%) Please answer the following questions:

a.

. (20%)

(5%) Explain the natural rate of unemployment

(5%) For past two decades, the central bank of most countries implements the interest rate rule, in contrast to the control
of monetary aggregate previously. Is it likely for the central bank to control the monetary aggregate and interest rate
simultaneously? Please explain with diagram.

(5%) If the investment is unresponsive to the interest rate movement, please explain the effects of monetary policy and

fiscal policy with a IS-LM diagram.
(10%) Please explain the difference between the classical view and Keynesian view of monetary policy.

(10%) In a model with nominal rigidity, what are the-short-run and long-run effects of a permanent increase in money
supply? Does the exchange rate overshoot in the short run? Please explain with a diagram.

(10%) The quantitative easing policy that the advanced economies implemented in past years has led to the significant
foreign fund inflows to emerging economies. How the significant rise in the foreign funds inflow may affect the
exchange rate of the currency? If the central bank of emerging economies intervenes in the foreign exchange market to
stabilize the exchange rate movement, how it may affect the foreign reserve and money supply of the country if it is not

sterilized? Please explain with a diagram.
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